(2)

SECTION-—'I
wug—I

factors responsible for the
e Indian National Congress.

1. Discuss the
h policies towards early

formation of th .
What were the Britis

nationalists?

i T FHE A T & R SRt FR
gﬁgﬁﬁmmm%ﬁm:ﬁﬁﬁﬁ
=4 HiC|

'2, Trace the course of expansion of Western
and technical education in Bihar between

1857-1947.

1857-1947 & T fagn & ey TE qehhl RI&T
F foem &% w9 srtfea Hifv

3, )Crtically analyze the factors responsible for
the_emergence of Gandhiji as an eminent
nationalist leader,

88 .
a:)t on the Quit India Movement
't a spontaneous movement?

1
e o™ B St e ey ol

38

38

38

38
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/ﬁ ‘Agnipath’ is a path towards development or
destruction? Comment. 38

‘m’ﬁa;raaxwﬁwﬁaﬁwa%?ﬁmﬂ
Hifs

9. Discuss the concept of ‘One Nation One
Election’ in Indian context and give your

arguments for and against it.

yidE g o, ‘TF TP U fAafe il SEumen i
qui I g1 5a vt i fag § o1 @ ifST)

38

59

k/ What is the root cause of war between Russia
and Ukraine? Discuss its impact upon the
nations of the world with special reference to

India. 38
w4 3 I3 & T TG F YA BRY 1 §7 WG H
mmﬁﬁﬁﬁ%nﬁmmummavh

) |

11. It is generally alleged that ruling party
misuses the Constitutional Institutions for
its vested interests. Do you agree with this

S

49/FG/CC/M—2022-021105A ( Continued )
ontin
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(c) If Maharaja is one of the companies
included in ‘others’ and its sale
constitutes 40% of ‘others’, then how
many toasters of Maharaja were sold in

2013-20147

(d) Assuming that the number of toasters
sold increases at the same rate in
2014-2015 as it did from 2012-2013 to
2013-2014, and assuming further that
TVS maintains its market share, what
will be the number of units sold by TVS

in 2014-2015?

(e) If in 2013-2014 IFB sold 7000 more
units and effected the market share of
other companies, then what would be
its market share (in %)? 4+8+6+8+10=36

¥ fow o SefiEt @ amEe e ik i i
M 91 & I ST
Rt F1 g 2013-2014 % a9 A fowgard
2010-2011 OMDAIBJ
2013-2014 | (200000) 39.6°\ | 3=
(350000) ! ‘ :
2011-2012 IFB 365\
(250000} -,
2012-2013 180°
Videocon

(300000)

49/FG/CC/M-2022-02/105A ( Continued )
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d

. of the sum of targete
‘ the ratio O i

(@ Fm:uction tor the years 2002-2003,

pl.(2)5—2006 and 2006-2007 to the sum

2? the actual productjon for these years.

0

rind the difference between t:flrgeteq_\
production and actual production for

5-2006
ars 2002-2003 and 200
tﬂ;lier{etogeﬂler. 6+8+8+8+6=36

ﬁﬂmﬂw@mﬁﬁqaﬂ(ﬂ%ﬁqm_
ﬂ:ﬁ%ﬁ(w:

(e)

freft @ # aiee F1 &7 3K qraia®
3aq1e (*000 #)
—o— &R IcrE
300 --m- T ITEA 295
280 -
260 231
7 240- A
S 5201
S wo| %
E 180- ;
160
14°'x 144
120 125
100 +— T T T T T T T T T T |
2001-02 2002-03 2003-04 2004-05 2005-06 2006-07
ay
(%) 2004-2005 A 2005-2006 ¥ @fira Ieareq
fra ftera uftada gan R7
49/FG/CC/M-2022-02/105A ( Turn Over )
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// . . u an
| I'chamctcnstlcs of Maury -

A\5\- Aescribe the chie
5.

= art.

.. two of the
6. Write short notes on any 19x2=38

following :
{a) Santhal Uprising
(b)) Champaran Satyagraha

(c) Rabindranath Tagore’s Contribution to
the Freedom Movement

 Fretafaa # ¥ R 3w wfm fRoafrt fafeg -
Y s e
/@wm

/(1) e ER S Red § EE

SECTION—II
Qug—II

@ Discuss the origin, membership, develop-

ment and objectives of ‘QUAD’, What is its
significance for India?

49/FG/CC/M-2022-02/ 105 a
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(@) awm%mﬁmﬁﬁmﬂmr’

g wrafr & wer o7 wvﬂ;a s

(1) 3 =0 K wen, Fed arafes e s

g e I @ AAfs w1, R I FE] A

9\ e, Tl awfes e ol arafys
40\ I B FH AT, A T R?

(@) = 2002-2003, 2005-2006 M

X 2006-2007 & T @ftra Iearey ¥ A =
/\/X_ W F T F awafasd I F Qe Y
.;'250\ Tranfem)

(¥) = 2002-2003 aik 2005-2006 = fieme
X Tl I Sl STy I & 9 H afq
X framfera

graphs show the Per Capita
Income and Nationa] Income of 3 country for

the given years. Refer to the bar graphs to
answer the questions that follow

Per Capitq Income (in &)
4933

1630
238 328 674

1951 196;

1971 1981 1991

[ a o P
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SeECTION—III
@us—III
( Statistical Analysis, Graphs and Diagrams )
( e fverr, aem s e )

12. Study the following table carefully and
answer the questions given below :

Percentage marks obtained by seven students
in six different subjects

Subject
A B C D E i
Student ‘
(Out of | (Out of | (Out of | (Outof | (Outof | (Outof
75) | 150 | 100) | 500 | 150) | 75)
p 85 68 76 92 89 82
0 78 72 84 80 64 70
R 66 75 79 88 72 66
S 74 62 91 74 70 74
T 90 75 67 68 69 78
vV 86 80 69 78 82 80
W 82 68 81 85 76 72

(a) Find the total percentage marks secured
by R in all the six subjects together.

(b) Find the difference between the marks
obtained by P in the subjects B, D and E
together and the marks obtained by Tin
the same subjects,

49/FG/CC/M-2022-02/105A ( Turm ouer ]
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(c) Find the average marks 'obtained by all
the students in the subject B.

Find the average percent of -marks
obtained by all the students 1N the

subjects C and D together.

What is the total marks obtained by all

the students in subject F?
6+10+6+10+4=36

ﬁmwvﬂwmqﬁ%awﬁﬁqaﬂtﬁﬁqm
Hﬁ%m?ﬂﬁq

(d)

(e)

ara o1 g1 9 A gl 4 9T Siel %1 Sfavid
fawq
| A B c D E F
(757®) [(150%8)|(100%%)| (507%) [(150%8)| (757 ])
P 85 68 76 92 89 82
ol| 78 72 84 80 64 70
R | 66 75 79 88 72 66
s| 74 62 91 74 70 74
T| 90 75 67 68 69 78
v| 86 80 69 78 82 80
W 82 68 81 85 76 72

49/FG/CC/M-2022-02/105A

(EB) Rmmq‘ﬁ@:ﬁﬂlﬁm@_mqwaﬁ
v yra Hifirg

(@) v B, D3 g # w-wmy P W 3

M oy - .
#fing § T ym s w st

( Continued )
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13. Study the following pie-charts carefully and

answer the questions given below :
Market share in 2013-2014

ONIDA\E’
39-6°)\ |Others
8.40
IFB 36>

Sales of toasters

2010-2011
(200000)

2013-2014
(350000)

2011-2012
(250000)

'"

180°
Videocon

2012-2013
(300000)

(a) Assuming that Videocon has
maintained its market share at the
same level from 2010-2011, what is the
total number of toasters sold by
Videocon in these four years?

(b)) If in 2012-2013 the market share of
BPL was 7%, then what is the change in
the number of toasters sold by BPL from
2012-2013 to 2013-20147

49/FG/CC/M-2022-02/105A ¢ Tvrm OV
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@) x WA ¢ 6 difSlEE 3 2010-2011 @
ol aem el Sl W W T W oR,
#RAFH T0 9N e d R T e H
gl WET 1 R?

(@) 3R 2012-2013 # BPL H 9= fe&edl 7%
ff, @ 2012-2013 ¥ 2013-2014 7% BPL
T 4= IR art AR e § fhan giedq
Bl 87

(M) =R ‘o= % wite w3 geen’ oft
2 3t et foft o’ &1 40% T =t 2,
@ 20132014 ¥ ‘TR & fHa dex A=
MY

@) & "d T W R M ded ft gem
20142015 ¥ I @ ¥ T ¥ N D
2012-2013 ¥ 2013-2014 @& H o, aix
arg A ge fl 7 g R TVS X amft s
feeerlt o w@hl R, @ 2014-2015 # TVS
2 4 T T R wem ®n A

(z) af 2013-2014 # IFB A 7000 =) el
adl ot s Fwb B A fReen @)
ywifaa o, @ @ amn fray (% )
am?

49/FG/CC/M-2022-02/105A ( Turn OV

Scanned with CamScanner



(13 )

National Income (in ¥ 00 crore)

4726
1224
a0 152 L
e I N : , ,
1951 1961 1971 1981 1991

Years

What is the growth percentage in ‘Per
Capita Income’ from 1951 to 1991?

() What is the annual growth rate of Per
Capita Income’ from 1961 to 1971

(assuming that the growth was uniform
throughout)?

(¢ Find the country’s population during
1981.

(d) What was the growth rate in population
during the decade 1981-1991?

() By how much percent the WNational
Income’ grew from 1951 to 19917

6+8+8+8+6=36

49/FG/CC/M-2022-02/105A ( Turn Ove’ )
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%) 191 3 1971 @ ‘wfy wfe I § A
76 g off)?

1981%mw@mmzﬁrﬁm
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fully and
. aph care

the following &F w::

H :.:‘Js:iv);r the questions given belo

in a factory

e— Target production o
--m-- Actual production 'm

120 125

100 L T 1] I 1 L T
2001-02 2002-03 2003-04 2004-05

Years

I I L

200506 2006-07

L I

(@) What is the percentage change in the

targeted production from 2004-2005 to
2005-2006?

(b) In which period was the percentage of
actual production with respect to target
production the highest?

(c) }Nhat is the ratio of the n

S in which the actual
below the average

49/FG/CC/M-2022—02/105A ( Contin
Ontinyeq )
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3R T
foy o =l & fore e g o s =i a7 s
o i 42 amat gro td ) e el H wed

ad g A Ry Tyl & 3w i
gfa =fer 3779 (€ 1)
4933
.
1630
t s 674
%__laa:m: 4 + —
1951 1961 1971 1981 199]
L
TEH 377 (€ '00 s )
4726
1224
o0 15 397
| [,
1951 1961 1971 og] 1991
(%) 951

I ﬁnn i~
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